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Eight persons A, B, C, D, E, F, Gand H
are sitting in circular table facing
center. All the persons are sitting along
the circumference of the circular table
at an equal distance between them. The

radius(r) of the circle is Z0m an e
circumference of the circle is@
where n = 22/7. Distances
considered only on the circumference of
}he circular table.

A sits 110m away from H. B sits second
'to the right of E who is not an
immediate neighbour of H. G sits 56m
away from the right of E. C and D sits
opposite to each other. D sits 110m to
the left of F. B is not an immediate

neighbour of Iy
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/D
Civcu\*ﬂeﬂk‘—‘ 2X 22 X Jo — QQO Eight persons A, B, C, D, E, F, G and H
) 4 ? are sitting in circular table facing
center. All the persons are sitting along
— @ the circumference of the circular table
at an equal distance between them. The
radius(r) of the tircle—is 70m and the

@@ circumference of the circle is 2nr,
H E_ (3 where n = 22/7. Distances are
A XA |considered only on the circumference

Xy
of the circular table.

E'G] A sits 110m away from H(B sits

™ second to the right of E who is not

an immediate neighbour of H. G sits

’? 55m away from the right of E. C

A4 and D sits opposite to each other. D

G sits 110m to the left of F. B is not

o,_, D __45) an immediate neighbour of A.
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A and B are sitting opposite to each other, then who sits
Immediate right of D?

S

p.B
2.C
H

-None of these

2.Who sits second to the right of F?
1.A

2.%
4.E
5.None of these
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3.Which of the following statement(s) is/are correct?

E /) G and F are sitting opposite to each other "
G )M 5mC i A and E are sitting opposite to each other, then
H'sits immediate left of F
ssm/". P\ |-LOnly (i)
1 2.0nly (ii)
<F  Cseld 42@ 3.Both (i) and (ii)
. 4.Data insufficient
55m oM 5.Both (i) and (ii) are incorrect
D" som~"sem
H 4.Who sits immediate left of B?
1.E

J\
one of these \

3.
4.
5.

=Z 0O >
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Eight scientists Ashoke, Berner, Shinya, Jane,
Noam, Alan, James, and Blackburn are sitting in
a square table facing center, such that four of
them are sitting at the corner of the square
table and remaining four persons are sitting in
the middle of the sides in the square table. All
the persons are sitting along the perimeter of
the square table at an equal distance between
them. The perimeter of the square is 320m and
the perimeter of the square is 4a, where a is
the side of the square. Distances are
considered only on the perimeter of the square
table.

Berner sits 80m away from Jane who is not sits
at any corner of the table. Three person sits
between Jane and Ashoke. Noam sits at corner
of the table and Alan sits 40m to the right of
Noam. Blackburn and Shinya sits opposite to
each other. Alan is not an immediate neighbour
of Shinya. Jane doesn’t sit immediate left of
James.
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Eight scientists Ashoke, Berner, Shinya, Jane,

oam, Alan, James, and Blackburn are sitting in
a square table facing center, such that four of
them are sitting at the corner of the square
table and remaining four persons are sitting in
the middle of the sides in the square table. All
the persons are sitting along the perimeter of
the square table at an equal di nce between
them. The perimeter of the square is 320m and
the perimeter of the square is 4a, where a is
the side of the square. Distances are
considered only on the perimeter of the square
tabl_eD

Berner sits 80m away from Jane who is not sits

at any corner of the table. Three person sits

tween Jane and Ashoke. Noam sits at corner
of the table and Alan sits 40m to the right of
Noam.(l_BIackburn and Shinya sits opposite to
each other. Alan is not an immediate neighbour
of Shinya. Jane doesn’t sit immediate left of
James.
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N D aom | aom N0 rner
4 v .Ashoke

40m 40m 3.Alan
Ashoke

b

Alan ‘ ~5 6.Who sits immediate right of James?
Blackburn A e

Sy 4.]Jane
Case 1 4o Jane
5.None of these

40m 40m
M ?
NG 40m 40m Shinva
James Baerios y

7.How many person sits between Noam and Blackburn
when counting right of Noam?

1.2

2.3

%re than three

5.None
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_ @ 8.Who sits second to the right of the one who sits opposite
B'iL“-"Q”‘ 40m aom ,Noam to Alan?
1.Shinya
40m 40m 2.James
Ashoke —|, @ > S 7Jane :
— 4.Berner
40m 40m 5.None of these
e .\
James ~ 20m. 40m  Shinya
9.Which of the following statement(s) is/are got true?

Berner and Blackburn are immediate neighbour
Ashoke sits third to the left of Noam
iy James sits second to the right of Shinya
1.0nly (i)
2.0nly (i) and (ii)
3.0nly (ii) and (iii)
)4.0nly (iii)

MaA- TSR, A 1), (i) and (iii)
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